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' a bottle of water olema > two,three bottles of water
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- a kilo of cheese i oLS & --% two, three kilos of cheese
~ aloaf of bread b ye 84 —1{> two,three loaves of bread

aloafofbread ol o) & two, three loaves of bread
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1. A: “Let’s go out tonight.”B: “Okay. | have ........ money, enough for the cinema at least.”
1) a little 2) many 3) little 4)a few

1. David climbed ........ hill in the countryside to see ........ apple trees.

1) an- much 2) a- some 3) a- much 4) an- some

3. A: “Have you ever been to France before™? B: “Yes, I've been there ........

1) much time 2) a few time 3) much times 4) a few times

4. We ran out of sugar and I asked Jack to buy ........ on his way home.

1) two bag of white sugar 2) two bags of sugar white

3) two bags of white sugar 4) two bag of white sugars

5. Only ........ people stay calm to help the injured man after the accident.

1) much 2)a few 3) many 4)alot of

6. 1 haven’t been paid for two ........ Can | ask vou borrow me ........ money?
1) months- some 2) month- many 3) months- a few 4) month- few

7. We don’t have ........ paper to print the important documents. We need to buy some more.
1) many 2) a few 3) much 4) a little

8. There were too many cars ........ and people had to drive........
1) vesterday in the street -slowly 2) 1n the street yesterday -slow
3) in the street yesterday -slowly 4) vesterday in the street -slow

9. There have been ........ problems with the new system, thankfully!

1) much 2)alot of 3) many 4) few

10. In Alaska in the winter, there ........ alot of ........ on the ground.

1) 15 -snows 2) are -snow 3) 15 -snow 4) are -snows

11. There is only ........ water in the glass. Please give me some more.

1) many 2) much 3) a few 4) a little

12. Heis .ooueeu amazing football player because he can use his both ........ to shoot the ball
1) a -feet 2) an -foot 3) an -feet 4) a -foot

13. A: Do you have five dollars?” B: “No, I don’t, but David has ........ money with him,”
1)alotof 2) much of 3) many 4) lots

14. My children usually drink ........ in the morning. It keeps them healthy.
1) two glass of milk 2) two glass of milks
3) two glasses of milk 4) two glasses of milks

15. A: “How ........ butter do you need?” B: “l only need a little.”
1) much 2) many 3) few 4)alot

16. Hi David. Can you give me ........ about the places of interest in the town?
1) some information 2) a few informations

3) many informations 4) few informations

17. 1 wonder how Jack is. | haven't seen him for ........

1) few month 2) a few months 3) few months 4) a few month
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205. My father is an experienced mechanic who feels very .............. about his ability to fix

different types of car.

1) valuable 2) appropriate 3) confident 4) hospitable

206. In a car accident he lost one of his hands, but .............. he can continue his life with one hand,
1) at least 2) therefore 3) in addition 4) also

207. My doctor often warns me that if l don’t .............. smoking, | will probably get lung
cancer in the near future,
1) continue 2) quut 3) protect 4) make

208. He's given several .............. to the boss that he'll quit if he doesn't get a 20 salary

increase.

1) steps 2) parts 3) hints 4) ideas

209. We were going to buy a modern home, but unfortunately the cost of it has .......... recently
1) landed 2) increased 3) lost 4) expected

210. When traveling to Morocco, you should respect their .............. of eating meal with hands.
1) culture 2) knowledge 3) value 4) nature

211. She showed her watch as a ......... that it was getting late and she wanted to leave.
1) fact 2) element 3) sign 4) trip

212. Besides having daily .............. exercises to keep your body healthy, vou need to practice
some mental activities,

1) interesting 2) physical 3) valuable 4) strange

213. Our teacher often .............. every clever student with average one to help them with doing

eXercises.
1) depends on 2) pairs up 3) searches for 4) goes out

214. 1 used to see him quite .............., but | haven’t heard of him for more than two months.
1) absolutely 2) successfully 3) interestingly 4) frequently o
215. In an international company, communication .............. play an important role in

attracting foreign customers.

1) emotions 2) skills 3) developments 4) beliefs ~aila.

2
216. Please give a .............. explanation of how an airplane flies without falling. Q’—g\h
1) fortunate 2) generous 3) simple 4) similar -

217. His correct answer showed his .............. understanding of the question.
1) helpful 2) complete 3) mental 4) available

218. Dogs are clever animals therefore, they are specially taught to ............ wild animals.

1) increase 2) follow 3) practice 4) endanger

219. When 'insert’ is a verb, the .............. is on the second syllable, but when 'insert’ is a noun,
it is on the first syllable.

1) intonation 2) pronunciation 3) stress 4) song

220. "Will the TV fit in here?" '"1'm not absolutely sure- let's .............. it."
1) measure 2) follow 3) increase 4) scan
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' According to the first paragraph/ second paragraph ..., which sentence/ statement 1s
NOT true?
According to the paragraph 1/2 ... ... ..., which sentence/ statement 1s NOT true?
According to the passage, which sentence/ statement 1s NOT true?
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All of the followings are true EXCEPT ... ... ...
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@ CLOZE TEST1

Deal people have (336) .. of commumicating with others = lip reading and sign language. Deaf people
may not be able to hear what you're saying, but that doesn't mean they can't (337) ... ... .. vou, Lip reading
15 a technmigue to understand speech by interpreting the movements of the lips and (338) . and using

body language to help. They also use information they have from the context of the conversation and the
knowledge they have about the language and its hip patterns. There are (339) . interesting facts about
lip reading. Only 30 percent of spoken English can be accurately hip read. This makes it very hard for a

deaf person to correctly read the speaker’s lips. This 1s because many words have the same lip (340) ..

Iﬂl 1) two ways main 2) two mam ways 3) two main way 4) two way main

Ih} 1) save 2) form 3) understand 4) respect

@ tongue 2) step 3) language 4) mind

89> 1) much 2) many 3) a hittle 4) httle

840 1) belief 2) value 3) ability 4) pattern

@ CLOZE TEST2

AfAn (341) .. language 15 one that 1s hkely to become extinct in the near future. Many languages are
failling out of use and being replaced by others that are more widely used in the (342) ... Or nation,

such as English in the U.S. or Spanish in Mexico. If recent ways are not changed, these endangered

languages will become extinet within the next (343) Many other languages are not learned by new
generations of children or by new adult (344) these languages will die out when their last speaker
dies. In fact, many languages today have only (345) . native speakers still living, and that people’s

death will mean the extinction of the language

b 1) lost 2) developed 3) borrowed 4) endangered

'ﬂiu 1) space 2) region 3) intent 4) price

248 - 1) century 2) expenence 1) matter 4) action

244 1) learners 2) speakers i) languages 4) pattern

!_;l.ﬁ 1) belief 2) value 3) ability 4) institutes

@ CLOZE TEST3

A language (346) ... ... .. to be dead even before the last native speaker of the language has died. If there

are only a few elderly speakers of a language remaining, and they no longer use that language for (347)

. Jthen the language i1s dead. A language does not die out (348) ... Language death 15 a slow
process in which very (349) people learn it less and less and Limit it to traditional events such as
in poetry and song. Half of the spoken languages of the world are not being taught to new generations of
children. When a language 1s no longer a native language it means that no children use that mother tongue

in the (350) ... - 1t 15 called dead.




Deaf people have (336) ... ... .. of communicating with others = lip reading and sign language. Deaf people
may not be able to hear what you're saying, but that doesn't mean they can't (337) ... ..... you. Lip reading
1s a techmique to understand speech by interpreting the movements of the lips and (338).., ... .. and using
body language to help. They also use information they have from the context of the conversation and the
knowledge they have about the language and its lip patterns. There are (339) ... ... .. interesting facts about
lip reading. Only 30 percent of spoken English can be accurately lip read. This makes it very hard for a
deaf person to correctly read the speaker’s lips. This i1s because many words have the same lLp (340) ...

.L'f* 1) two ways main 2) two main ways 3) two main way 4) two way main
2) form 3) understand 4) respect

2) step 3) language 4) mind

2) many 3) a little 4) little

2) value 3) ability 4) pattern

A/An (341) ...... .. language is one that is likely to become extinct in the near future. Many languages are
failing out of use and being replaced by others that are more widely used in the (342) ... ... .. or nation,
such as English in the U.S. or Spanish in Mexico, If recent ways are not changed, these endangered
languages will become extinct within the next (343) ... ... .. Many other languages are not learned by new
generations of children or by new adult (344) ... ... .. these languages will die out when their last speaker
dies, In fact, many languages today have only (345) ... ..... native speakers still living, and that people’s
death will mean the extinction of the language.

.L*" 1) lost 2} developed 3) borrowed 4) endangered
.f,’:‘-* 1) space 2) region 3) intent 4) price
.[_-; 1) century 2) expenence 3) matter 4) action
.[_-: 1) learners 2) speakers 3) languages 4) pattern
.L;: 1) belief 2) value 3) ability 4) institutes

A language (346) ... ... .. to be dead even before the last native speaker of the language has died. If there
are only a few elderly speakers of a language remaining, and they no longer use that language for (347)
~.ioo . othen the language 1s dead. A language does not die out (348) ... ... .. Language death 15 a slow
process in which very (349) ... ... .. people learn it less and less and limit 1t to traditional events such as
in poetry and song. Half of the spoken languages of the world are not being taught to new generations of
children. When a language 1s no longer a native language it means that no children use that mother tongue
in the (350) ... ..... -1t is called dead.
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4) Iinguists‘thait belive many languages will be lost in the next century
.|-* We can understand from the passage that when a language lost his last speaker it is called a ......
1) global language 2) dead language 3) endangered language  4) political language
.l “According to paragraph 2, parents teach their children a language related to economie
success because ........ .
| ) they want to send their children to other countries
2) they want their children to have a better future
3) they want to record the last speaker
4) they want to predict the future
850> The word “these” in paragraph 1 refers to ........
1) endangered languages 2) all languages 3) speakers of languages 4) linguists
.I “ Which statement about the passage is NOT true?
1) In the next century half of the languages spoken today will not die.
2) Porto-Indo European peoples’” migration to others parts of Europe and Asia cause their language death.
3) earthquake and flooding can cause language death by destroying cities and villages.
4) Dunser 1s both language and village which is located in Papua region.

k

People often ask which is the most difficult language to learn, and it 1s not easy to answer because
there are many factors to take into consideration. Firstly, in a first language the differences
are unimportant as people learn their mother tongue naturally, so the question of how hard a language 1s
to learn is only relevant when learning a second language. A native speaker of Spanish, for example, will
find Portuguese much easier to learn than a native speaker of Chinese because Portuguese is very similar
to Spanish, while Chinese is very different, so first language can affect learning a second language. The
greater the differences between the second language and our first, the harder it will be for most people to o
learn. However, for Japanese speakers, who already use Chinese characters in their own language, learning
writing will be less difficult than for speakers of languages using the Roman alphabet.

Teachers and the circumstances in which the language 1s learned also play an important role. If people
learn a language because they need to use it professionally, they often learn it faster than people studying a e
language that has no direct use in their day to day life. No language is easy to learn well, though languages o
which are related to our first language are easier. Learning a completely different writing system 1s a
huge challenge, but that does not necessarily make a language more difficult than another. In the end, it is
impossible to say that there 1s one language that 15 the most difficult language in the world.

.I; According to the passage, learning Portuguese is easier for Spanish speakers because ......
| ) it has an easy writing system

2) 1t 1s as easy as Chinese

3) Portuguese 15 not related to Spamish

4) many similarities exist between two languages

#8 The writer believes that ..........

| } learning a second language 1s not related to the first language
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